UP Board Class 12 Biology Question Paper 2023 (Code 348 CM) . ..o
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General Instructions !
(1) First 15 minutes are allotted for the candidites to read the question paper.
(11)  All questions are compuisory
(ii1) Hlustrate your answers with labelled diagrams wherever necessary.
(iv) Marks allotted to each question arc mentioned agamst if.
e
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(Multiple Chodee Ty pe Questions) | PR S e

P  Choose the corredt upiitm and Wiile (o in vogr answer hook

;

(Al Whieh one is found 1 podlen grian

(AL Two male gametes

Py ' : N
aﬁB} Twa segetative ceiHs and ope penerative el
Y Ome generative vell and one tube cell

DY One tehe celi ard one male gamete

2 3

v Number of potlen sacs il dinther s

o7 Hew many meiotic divisions are reguired to get 200 grains of Barley ? 1
A 200
(B U0
iy =390
Dy 30
(d; Congenital metabolic disorder is 1

(A) Phenylketonuria
(B) (olour blindness
(C) Haemophilia ' =
(D) Anaemia e -
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(Definite Answer Type Questions)

Sy pEwEE §ET IS 7 Ut HETAIE 7 AT faftgn |
(@ . P

3
gy AT @I T8 T g T AR
M TR H F v JrarEA g qant
gy SN @ AN H a8y | ety HiTFE
‘= fatgudr 8@ &5 H g 7
2 coy Menlien g Nume GLcausal orsanism I,:}i'T},-phu:d fever.
(oY WhRaIype of nucleus 1< found ;1 bactertai vell !
oy Draw alabeiled didgram of o <ucculent frui.
rd} Describe mbriei apout advantages of cross-polhnabiai.
(e What is blo-gdiversity notspol
(3t oY -390 7))
(Very Short Answer Type Questions)
Y () TOTHM % TETET fREE WIS TTA T 8 ¢
(@) uiEredfas g feam fafey
(1) 3! () B A ToReh (WITH) Bl B =R I |
m) T (vorfERem) @1 afonfig Hifwe
3) Ty ) i fefige
3. (a) Pollen grains get their nourishiment from which part of anther

(b) Comment upon amniccentesis

(¢} Differentiate between true fruit and false fruit,
(d) Define Apomixis,

What do you mean by Polyembryony ?
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(Short Apgswer Type Questions)

(F W wF & T T (97 wama

5, uaT TS & SN FTLF) U A1aeA (95 4R
(1) RYWR) OES @ AT FHARA § 7 e § TP frfan |
‘gt fars gl fromh ferfge

(ay Draw a labelied Jiagram of a human sperm

b e aece cortint of 4 ature anther
(b)  raw @ Jaheitend diagrdim of L iransverse sCCelhe {4 mals

') 1y o117 ’ y }"r
(o) What Jo you me . nee-reeping Cxplain itn brct.

(d)  Wite short note ¢n Family Planning,

(%) F10E ¢ ATl S 0 FRrara AN |

(@) WA A B F =% FIF D B 7 ERA i gl o TG FINETRIE B | 3R &

2B AT |

§ | sere e Pt B deven 8 o7 I 3

Give an account on DNA fingerprintiitg.

by Who s father of Green Revolution in India 7 Green Revolution js useful for
(b} o 1 |

farmers. Explain it with exampie.

(c) What do you mean by restriction enzymes 7 Explain with example. 3
¢ / |

(d) Hydrophytic plants are adapted to thew environment. Fxplain 1t with the help of e

examples and diagrams.
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(i} & 33efe wgrd 1§ qergdt Wi )

6 {at  Name the impartant components of mo-diversity and mention suitable measures

for its conservaiion.

(b)  Wnte sho on
) Ot noie on . 1% ¢ 1V

(1) Genetical disorder in man

(1)  Central dogma

(c)  What is bio-fertilizer ? Describe its role in ihe production of food. 142

(d)  Wrine short note on any two

1% 4+ 1%

(1) Red daia book

(1) Parasitism

(iti) Role of leguminous plants in increasing the tertility of soil
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What i Megasporogenesis 7 Deserthe the development of 2ypolc Lot

mature ovule wan Ansiosperie Nower.
OR

Draw a fabelled diaeram of reproductive system of a woman.

« R @ m Afena fromh ffign 2% + 2%
(1) Eﬁhaﬂ4

(11) AITAE O™ JUHR

(i) EtA Al UFHam

2V, 4 2%
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E . -8_. © Write shott note on any (wo ?l
‘:T I o . U) Double terith zalion L ; ‘
; () Sewage treatment *
Gy Control of Pneumonta
OR
2 + 24
Differentiate between the following fruits
(v Legume and Lomentum
(1) Drupe and Schizocarpic frui
4 qigrq feogeft faqtign 2Va + 2

AHEE e T U ey fafge 5

9. Write short note on . 2V + 2V
(1)  Fertilization in human

(ii)  Active and Passive Immunity

OR

Write an essay on Genetic code. 5
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